th4 waybel21 (TM-
cXcA7UDgiUHKrzBjWRiy8pWBCXezFM8&5y)

October 27, 2020

Let v2_pre_topc : t=>0 be given. Let v3_orders2 : t=-0 be given. Let
vd_orders_2 : t=>0 be given. Let v5_orders_2 : ==>0 be given. Let v3_waybel 3 :
t=>0 be given. Let vl_lattice3 : 1=0 be given. Let v2_.lattice3 : 1=-0 be
given. Let v3_lattice3 : t=-0 be given. Let v2_waybell9 : 1=>0 be given. Let
[1_waybel 9 : t=>0 be given. Let v2_struct_0 : t=>0 be given. Let v4_yellow_0 :
t=>t=0 be given. Let vb_yellow 0 : 1=1=0 be given. Let ml_yellow0 :
t=1=>0 be given. Let ml_subset_.1 : t=1=>0 be given. Let kl_zfmisc_1 :
1=t be given. Let ul_struct.0 : 1=t be given. Let kd_yellow 0 : 1= be
given. Let vd_pre_topc : t=1=0 be given. Let v7_waybel 0 : =0 be given.
Let I1_waybel 0 : t=>1=>0 be given. Let rl_waybel 0 : t=>1=1=>0 be given.
Let kl-waybelll : t=>1=- be given. Let rl_tarski : t=>t=0 be given. Let
k2_relset_1 : t1=>1=-1 be given. Let ul_waybel 0 : t=>1=-1 be given. Let v4_waybel 0 :
t=t=>0 be given. Let v7_yellow_0 : t1=1=0 be given. Let [1_struct_0 : t=0 be
given. Let [1_pre_topc : t=>0 be given. Let [1_orders_2 : .=>0 be given. Assume
the following.

VX0.((v2-pre_topc X0)A((v3-orders2 X0)A((vd-orders_2
X0)A((vh-orders2 X0)A((v3_waybel -3 X0)A((v1_lattice3 X0)A
((v2_lattice3 X0)A((v3-latticed X0)A((v2_waybell9 X0)A(I1_waybel 9
X)) =NVX1.((—v2_struct_0 X1)A((vd_yellow_0
X1 X0)A(mlyellow 0 X1 X0)))=((VX2.((—v2_struct_0 X2)A
((vd-orders-2 X2)A\((v7_waybel .0 X2)A(I1_waybel -0 X2 X0))))=
((r1tarski (k2_relset_1 (ul_struct-0 X0) (ul-waybel 0 X0 X2))
(ul_struct 0 X1))=(klwaybelll X0 X2 € ul_struct_0 X1)))=(vd-waybel 0
X1 X0)))

1)



Assume the following.

VX0.((v2_pre_topc X0)A((v3_orders_2 X0)A((vd_orders_2
X0)A((v5-orders-2 X0)A((v3_waybel -3 X0)A((v1_lattice3 X0)A
((v2.lattice3 X0)A((v3-lattice3 XO0)A((v2-waybell9 X0)A(I1_waybel 9
XOONN)N))=(VX1.((—v2_struct-0 X1)A((vd_yellow_0
X1 X0)A((vhyellow 0 X1 X0)A(ml_yellow 0 X1 X0))))=(((kd_yellow_0
X0 € ul_struct_ 0 X)A(VX2.((—v2_struct_0 X2)A((v4d_orders_2
X2)A((v7_waybel 0 X2)A(I11-waybel 0 X2 X0))))=((rl_tarski (k2_relset_1
(ul_struct.0 X0) (ul-waybel 0 X0 X2)) (ul_struct-0 X1))=(kl-waybelll
X0 X2 € ul_struct-0 X1))))=(v7-yellow0 X1 X0)))
2)

Assume the following.

VX0.((v2-pre_topc X0)A((v3-orders2 X0)A((vd-orders_2
X0)A((v5_orders_2 X0)A((v3_waybel 3 X0)A((vl_ lattice3 X0)A
((v2_lattice3 X0)A((v3lattice3 X0)A((v2waybell9 X0)A(I1_waybel 9
X0N))))N))=(VX1.((—v2_struct-0 X1)A((vd_yellow-0
X1 X0)A((v7-yellow0 X1 X0)A((vd-waybel 0 X1 X0)A(m1_yellow-0
X1 X0))))=(vX2.((—v2_struct-0 X2)A((vd_orders-2 X2)A
((v7_waybel 0 X2)A(I1_waybel .0 X2 X0))))=((rl-waybel 0 X0 X2
(ul_struct 0 X1))=(kl waybelll X0 X2 € ul_struct_0 X1))))
(3)

Assume the following.

VX0.((v2-pre-topc X0)A((v3-orders2 X0)A((vd-orders_2
X0)A((v5-orders-2 X0)A((v3_waybel -3 X0)A((v1_lattice3 X0)A
((v2_lattice3 X0)A((v3lattice3 X0)A((v2-waybell9 X0)A(I1_waybel 9
X0))))))))=(VX1.((—v2_struct 0 X1)A((vd_yellow_0
X1 X0)A((v7-yellow 0 X1 X0)A((vd-waybel 0 X1 X0)A(m1_yellow_0
X1 X0)))))=(3X2.(ml_subset_1 X2 (kl_zfmisc_1 (ul_struct-0
X0)A((X2 = ul_struct-0 X1)A(vd_pre_topc X2 X0))))

Assume the following.

VX0.((v2_pre_topc X0)A((v3_orders_2 X0)A((vd_orders_2
X0)A((v5-orders-2 X0)A((v3_waybel -3 X0)A((v1_lattice3 X0)A
((v2_lattice3 X0)A((v3-lattice3 X0)A((v2-waybell9 X0)A(I1_waybel 9
X0))))))N))=(VX1.((—v2_struct-0 X1)A((vd_yellow-0
X1 X0)A(mlyellow 0 X1 X0)))=((3X2.(m1_subset_ 1 X2 (kl_zfmisc_1
(ul_struct 0 X0)))A((X2 = ul_struct_0 X1)A(vd_pre_topc X2 X0)))=
(vd_waybel 0 X1 X0)))

(5)



Assume the following.

VX0.((v2_pre_topc X0)A((v3_orders_2 X0)A((vd_orders_2
X0)A((v5-orders-2 X0)A((v3_waybel -3 X0)A((v1_lattice3 X0)A
((v2.lattice3 X0)A((v3-lattice3 X0)A((v2-waybell9 X0)A(I1_waybel 9
XOONN)N))=(VX1.((—v2_struct-0 X1)A((vd_yellow_0
X1 X0)A((vhyellow 0 X1 X0)A(ml_yellow 0 X1 X0))))=((kd_yellow_0
X0 € ul_struct 0 X1)=((VX2.(ml_subset_1 X2 (kl_zfmisc-1
(ul_struct 0 X0)))=(~(X2 = ul_struct_ 0 X1)A(vd_pre_topc X2 X0)))V
(v7_yellow 0 X1 X0))))

Assume the following.

VX0.((—v2_struct-0 X0)A(I1_struct.0 X0))=(VX1.
((—v2_struct 0 X1)A(I1-waybel 0 X1 X0))=(VX2.(rl tarski
(k2_relset_1 (ul_struct_0 X0) (ul_waybel 0 X0 X1)) X2)=(rl-waybel 0
X0 X1 X2)))
(7)

Assume the following.
VX0.(11-waybel 9 X0)=((I1_pre_topc X0)A(I1_orders-2 X0)) (8)

Assume the following.
VX0.(I1-orders2 X0)=(I1_struct_0 X0) 9)

Assume the following.
VXO0.(I1-orders2 X0)=((v2-lattice3 X0)=(-v2_struct_0 X0)) (10)

Theorem 1

VX0.((v2-pre_topc X0)A((v3-orders-2 X0)A((vd_orders_2
X0)A((v5_orders2 X0)A((v3-waybel 3 X0)A((vl_lattice3 X0)A
((v2_lattice3 X0)A((v3latticed3 X0)A((v2_waybell9 X0)A(I1_waybel 9
X0))N)))N))=(VX1.((—v2_struct 0 X1)A((vd_yellow_0
X1 X0)A((v5_yellow 0 X1 X0)A(ml_yellow 0 X1 X0))))=(VX2.
(ml_subset.1 X2 (kl_zfmisc_1 (ul_struct-0 X0)))=(((X2 = ul_struct-0
X1)A(kd_yellow 0 X0 € X2))=((vd_pre_topc X2 X0)=(VX3.(
(—v2_struct_0 X3)A((vd_orders_2 X3)A((v7_waybel 0 X3)A(I1_waybel 0
X3 X0))))=((rl.waybel 0 X0 X3 X2)=(kl waybelll X0 X3 € X2)))))))



